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2.2

m) a?+2a+1 = (4&+1) y
2
n) 1+2z°+z* = (’I% 9&)
. )
o) a* +9b* — 6a*b = (3\ — 3};)
Z 2
p) 9z* + 16y* + 24z°y = (31, .W;,)
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) (a+b)?2—2a+bet+ = (&+b+c)

t) 5z —10z+5 = 5 (QLZ — X +4) = O (X —1)

u) z%(a +b) +2(a+b)xr+a+b
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2.2.4 Lactoriser :

a) r°+pr+6 = (DL+ 3 Xl% 2 /\

b) 2+ 5z + 4 — (= +1 ) 2+t4)
c) u® —6u+8 = (2 —2)(>x —4)

d) 22 -2z —-35 = (x> —+ Nx t 5)

Méthodo o & somme o do F‘(‘odm& :

(:@—L&)(BL er) = a° TEL + P
25 4+ (a4bla 4+ 3b = 2% + 3> —p
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Mobhode  des  avoupememts

2.2.6 Factoriser :
a) ax +br +ay+by — l(&'h‘o) T j(iﬂo) = (&%B) (QU‘GH)
b) a+b+ar+bx+ay+by = (Ath) + DC(Zm“b) ‘I-ét(&fb)

= (4t (4 + Xty

< '(
) a®—2ab+ 0" -1 = [g_L) — 1 = Lﬁ"b“")(&’k ﬂ)



